Inverse operations

o Using the inverse (or reverse) we can find the input for any
machine, by using the output.

. inverse
input operation . output
Operation I Inverse operation
+7 ~7
-8 +8
x4 <4
+6 ‘ x6

e Example: Find the input.

?>+9 20

Solution: Change arrows direction and use the inverse operation

?~{-9l=

? =11since 20 — 9 = 11
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1. 4 - 13— 31 12. ¢ ——-72t— 27
3. f->{x5|> 60 M. T x9 [ 72
5. 7 ~{:af—82 16 ~{+6}—7
17. = 54 [ 18. 7 56
9. ©-{«7})7 20 4-{:3 2



Exercise 4

Find the input to these machines

N R eIy SRy Sy B
. -{-5f>{-8}7 Js 4 &—{-9){-3}—5
V| xsl{x3]- 36 i 6 =1 x5 x2 = 10
©@-{rellral s 0L
9. W +7 -1} 1[5 10 T = +1 {17} 1
. A —{+3f{x2}—165 12 A—{+3| x4} 52
B S-{+al{+s5}—3 || 4 t{+7}{+9}2
15. Sl -2 f{+17}>-34 (7 16. @—{-161-{+61] 84
-1 x84 [ 18 § >{-8}{x7] 2
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